
Year 2 Spicy  Challenge Balancing equations
Write the problems in your book.
[bookmark: _GoBack]  Both sides of an equals sign should make the same total.
Work out the answer to the calculation on the left-hand side and write this in both circles.
Find the missing number on the right, so the calculation makes the number in the circle.
Remember to solve the first subtraction calculations you can use a number line to count on from the smallest number to the biggest number or count back from the biggest number to the smallest.
           +10         +8                                                                                                                            -8            -10

 32                42                 50                                                                                                                                              32         40             50

Then you have to find the missing number.

			62
62
18
18

1.	50	-	32	=	98	-	80		2.	92	-		=	98	-	36




			

3.	85	-	48	=			-	18	4.		-	43	=	122	-	35




			

5.	150	-		=	137	-	89	6.	245	-	108	=			-	36


			

7.	251	-	146 	= 182	-			8.		-	59	=	232	-  94



			

9.	347	- 129	=	261	-			10.	164	- 86	=			-	45



			

11.	215	- 65 =	      252	-			12.	339	-		=	317	- 125



			

13.	198	-	56	=	  		-	42	14.		-	152	=	298	-	139



			



15.	166	-		=	140	-	32	16.	371	-	136	=			-	73




